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1. Give everything about the following functions (Hint: zeroes, asymptotes, intercepts,
holes, domain) and sketch a graph. Make sure you graph all important information.
Make sure to label your axis.

A H.A

=242 =— 1 -t
y x+1 y 2x—1 2%~

e
pop X=-l P.OD X= {"z Zei [
va: X VA, x= %_ <= 2%l

-y L2

2 & =- -
HA: V=2 o H.A. y-l w2
Zeroes: X' 3 Zeros X 2
Holes: Nent Holes Aone
¥otercept: (0) g) y-intercept [ 2) -"3 :

X = oaj
Ry (—y’d,)U(—")My Domain ('0') ")U(“J

A

nnnnnnnnnn

'
1
1
]
1
L}
v
i
|
1
v
\
]
1Y
L
1
]

L. g e g e 1 = g

O iR A T e




